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SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 386,010
= 115,803
= 370,836
307 gIzHol ™ 872,649 896,821 A4 T2
= 366,010
& 115,803
i 370,836
11 AL =SXAMEES 872,649 896,821 AN2A T2
0 Z2Y &l s X3 872,649
= 386,010
& 115,803
i 370,836
=g ¥ =8| Uiyl B2 dHI] X 60,000 0 60,000
= 12,000
= 48,000
402 SI2ER=0I A 60,000 0 60,000
= 12,000
= 48,000
02 QIZEXHE2 A 2 ZZ (01 THE) 60,000 0 60,000
0 Z2E Wete)| K&
2,000,000& *30CH 60,000
& 12,000
= 48,000
Ct=&3l2 ADIE ALY 700,000 1,000,000 A300,000
402 SI2ERH=0IH 700,000 1,000,000 A300,000
01 QIZEXH2 AN 2 2 (REAITH &) 700,000 1,000,000 A300,000
0 OI=Ha2 ADISE+At 700,000
JIEHs Hg UEE XNIAANL(FZY) 70,000 0 70,000
= 21,000
i 49,000
402 QI2ERHE0|1 A 70,000 0 70,000
& 21,000
= 49,000
02 QIZEXHE2 A 2 X (01 THE) 70,000 0 70,000
0 JI1ZFHs Mg 958 NJAMA(BRY)
1,750,000 *407H 2 70,000
& 21,000
i 49,000
LOIItAIE BESKIR 6,000 6,000 0
307 gI2tol ™ 6,000 6,000
11 ASIESXAEEX 6,000 6,000
0 =oIItAIY EESE XIJ 6,000
AHISHIE 2IXA 30,000 30,000 0
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SN ObEFE Y
Hm: Lol=X|SX
el Sel0IEXAE 28 H JIsEY (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 30,000 30,000
11 AMEISXAEEES 30,000 30,000
0 1Z22¢, 12 A
2,000,000 *15JH £ 30,000
d2g 8= S A2 35,000 40,000 A5,000
307 @12to| & 35,000 40,000 /5,000
06 28= 35,000 40,000 25,000
0224 288 S N 35,000
d2g 2& & 2317 A 70,000 50,000 20,000
405 KHaHE SH 70,000 50,000 20,000
01 AL =S F=H| 70,000 50,000 20,000
0 32 25 ¥ HAIIR(2A0ISIR) K&
2,000,000 3570 £ 70,000
LUAGIS Lo=sA2 28 A 84,288 854,288
101 @124H| 313,615 313,615
04 JIZtNZ22 NS+ 313,615 313,615
0 dEAGS LoISK2 224 2| 313,615
o2 202,703
o =g 54,408
o EIANESs 21,142
o0 ABIE2ERE= 26,082
0 J|Et= ] 110,000 +8 880
o =L 100,000& 7 =123 8,400
201 el 404,073 404,073
01 Al222lH] 86,054 86,054
0 YsgY| 86,054
0 Lerg| 26,025,00024*1)H 4 26,025
0 BB AR 6,600, 00024+ 17 2 6,600
0 XRAAZABALIL|
4,185,000 * 100 2 4,185
0 ATtE2EHH| 46,884,000 * 11 2 46,884
o 2g+E 2,360,000 * 104 2= 2,360
02 S3=gHl 163,260 0 163,260
0 35&2gHl 163,260
03382 127,560,000 * 14 2 127,560
o g2l 3,900,000 * 104 2~ 3,900
o Xt&F Al 5,800,000 * 104 2~ 5,800
o AEEHIR Xt 26,000,000 *1IH £ 26,000
03 &A= 154,759 0 154,759
0 SAtE I 154,759
o MARAENE & H24E
1,960,000 104 2 1,960




SN OIEE L
Hm: Lol=X|SX
el Sel0IEXAE 28 H JIsEY (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o A X ARSI
2,190,000 * 104 2= 2,190
09Il ¥ SHLOIXIHAI
3,080,000 * 10 2= 3,080
0 QAR Bt K ALY
128,245,000 * 11 2 128,245
0 LQIAHASTA
10,540,000 * 100 2 10,540
0 ARl B XIS AL 8,744
206 M=l 129,600 129,600
01 M= HI 129,600 129,600
0 &g=2dg 129,600,000 * 14 2 129,600
301 LEIE NS 7,000 7,000
03 AL 2 & A 263 (X)) 800 800
0901 & SHUXHAS 800
o 22X& 400,000 =2 800
11 #AIAHIXIZ S 6,200 0 6,200
0 HAIAMHIXIE S 6,200,000 * 104 2 6,200
COIASTHE XA 204,256 204,754 A498
< 42,250
Ea 162,006
tasisd 29 5,750 5,900 A150
= 450
= 5,300
307 elztol & 5,750 5,900 A150
= 450
[Ea 5,300
1 AMEISXAIEEXS 5,750 5,900 A150
0 MEsisdy 29 5,750,000 104 2 5,750
= 450
o 5,300
fEHZANG 29 136,306 131,574 4,732
[ 23,180
T 113,156
307 glztol & 136,306 131,574 4,732
= 23,150
= 113,156
11 AMEISXAEEE 136,306 131,574 4,732
fEIZNE 29 136,306
= 23,150
Ea 113,156
COUHEAITH K& 54,000 45,000 9,000
== 16,200




SN OIEE L
Hu: Lol=X =X
el ZQAHISAEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 37,800
301 EtE NS 54,000 45,000 9,000
=S 16,200
s 37,800
01 Al E2E AL S(FRDEXMA) 54,000 45,000 9,000
0 LoDEAMMH EsHl A&
90,000 *600H 54,000
< 16,200
s 37,800
LoEsER)| X 8,200 10,780 22,580
= 2,450
Ea 5,750
301 EtE NS 8,200 10,780 N2,580
=S 2,450
s 5,750
01 Al 2E A S(FRNEXMA) 8,200 10,780 22,580
0 =08sExR)| XY 8,200
< 2,450
[Ea 5,750
Lol (THIN=EXIAER2E 2 JIsE2 7,760,387 4,914,596 2,845,791
= 222,437
[ 13,200
= 1,156,687
Ea 6,368,063
oo g=SNAgE =2Y 2,157,808 2,423,580 N265,772
=S 366,827
s 1,790,981
301 EetE2 NS 2,157,808 2,423,580 N265,772
== 366,827
[Ea 1,790,981
01 Al 2E A S(SREXME) 2,157,808 2,423,580 N2B5,772
0 LQIRAE 2EXH 2,157,808
& 366,827
= 1,790,981
MIt=QISXAIE 29 4,333,345 2,062,256 2,281,089
= 433,334
[Ea 3,900,011
301 EtE2 NS 4,333,345 2,052,256 2,281,089
=S 433,334
s 3,900,011
01 Al EE AL S(FREXM) 4,333,345 2,062,256 2,281,089
0 Mot=oISTAIE 2EXE 4,333,345
[ 433,334
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SN OIEE L
M Lol=X =X
o9l TOIoR(MINSXAILLE U IS8 (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 222,437
=S 185,706
s 66,731
VT2 CCTV XIZAALSE 26,400 0 26,400
= 13,200
= 9,240
o 3,960
402 2I2F X201 & 26,400 0 26,400
[ 13,200
= 9,240
Ea 3,960
02 QI X2 AL E R (01X THE) 26,400 0 26,400
0 #1212 CCTV XA 26,400
[ 13,200
= 9,240
= 3,960
I SAHA =& 80,000 80,000
307 gl2to| & 80,000 80,000
10 Al SXAZEE 22X 80,000 80,000
0 &I SAHL =g 80,000
SEXNNEERLALE 23 30,000 30,000 0
SEXNHESRSAE 23X 30,000 30,000 0
307 212+01& 30,000 30,000 0
10 Al2ISTIAEEE 22X 30,000 30,000 0
0 otS= SEXMMISAAL 2E X2
30,000,000 *10H 2~ 30,000
FEE3HHA 715,922 635,489 80,433
= 110,000
o 605,922
AAIE 2t 715,922 635,489 80,433
= 110,000
= 605,922
¥ &= N2 145,000 130,100 14,900
301 EtE NS 145,000 130,100 14,900
03 AL 2 EH 263 (XL E) 145,000 0 145,000
0 =ty &el= 145,000
SS2A ZHISA 330,500 400,500 70,000
401 AIEHIX R0 330,500 400,500 70,000
01 A28l 330,000 400,000 70,000
0 cal=sRHAl Sl
200,000,000 * 194 2 200,000
0 Hetss2Al ZHl
100,000,000 * 104 2~ 100,000
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AN OIS
HH: HR2sHH
Chel: FAAlZ 2] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0 SSEA HHISA
2,000,000 * 1500 2 30,000
03 Al =2 0HHI 500 500 0
0 SSEA ZHISA 500
=234 | 107,422 103,889 3,533
101 ©1AH| 39,358 38,089 1,269
M ORNZZ2NSE S 39,358 38,089 1,269
0 =Eg2el JIZMZ2 A 2| 39,358
oJlZs 19,087
o FEIE 4,849
0 {LIF=Y 13,622
o EIMNES 1,800
201 =3 18,064 15,800 2,264
01 Al22t2lH] 2,600 8,000 4,600
0 Ystgy| 12,600
0 22YY N M
2,000&*1,0002 2,000
0 22U AIPEE 7Y
1,200,0002 *432] 4,800
0 S2EE AIZZH| FAIH|
500,000& *52 2,500
0 22YY 20IFHIS
275,000 x 122 3,300
02 S3=gHl 5,464 7,800 A2,336
0 332= % HA 5,464
o MRS 950,000 *4= 7| 3,800
o MetR=a 50,000 *4= 7| 200
o AIHUIRS 22,0003+ 122 264
o FgYsSrllzE 24,0002~ 122 288
o AIEIE X317 U=
33,0002 *42] 132
0 MEIE Hedlr= 65,0002« 12 780
401 Al HIZ S 0HbI 50,000 50,000
01 Al&H| 50,000 50,000
0 =28E ARG =It £X 20,000
03284 Ald 2=
30,000,000 *1IH 2 30,000
=29Y A== BHE 1,000 1,000 0
301 LELE NS 1,000 1,000 0
03 AL 2 & A 253 (XL E) 1,000 0 1,000
0 =288 7= etz 1,000
DELH9 AHZRH Eell X2 110,000 0 110,000
= 110,000
301 22N = 110,000 0 110,000




AN OIS
HH: HR2sHH
Chel: FAAlZ 2] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 110,000
01 Al EE A S (2 RDEEMA) 110,000 0 110,000
0 22LE AFAF ZelXI&(102) 110,000
= 110,000
FAANE =2 S| A 8 22,000 0 22,000
207 ARl 22,000 0 22,000
01 = 22,000 0 22,000
0 FANE =5 SEI| HE =8 22,000
HY2AHHI(OIEFEAM) 26,720 22,040 4,680
=34 26,720 22,040 4,680
Jl=22HI(OI=3 =) 26,720 22,040 4,680
201 er23| 23,120 19,040 4,080
01 At2teltl 23,120 19,040 4,080
0 2N2g Let+=EHI(SS)
560,000& 17 9,520
0 2ME2d S8l 8,000& *17H+100&! 13,600
203 =] 3,600 3,000 600
M FA2HLRFEI 3,600 3,000 600
0 BM2dg 300,000 x 104 2% 123 3,600
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